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Test example for the Bachelor Exam (July 2017) — written exam
Accounting and Management Information Systems English line

Class: Basic accounting

Multiple choice questions (10*0,15 = 1,5 points)

The resemblance between commodities and finished products consists in:

Both are inventory elements meant for sale

Both are inventory elements meant to be used within the entity

Both are the result of the production process within the entity putting them to sale

Both are inventory elements obtained from third parties
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None of the above is correct

The classification of liabilities and equity is done based on the following criteria:

Nature and source, respectively liquidity

Nature and source, respectively chargeability (maturity)

Nature and destination, respectively chargeability (maturity)

Nature and destination, respectively liquidity
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None of the above is correct

Which of the following categories are not financial liabilities?

Bond loan

Bank loan

Liabilities regarding payments to be made for financial assets

Liabilities for amounts borrowed from other entities within the group
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Interest for bank loans

Choose the statement that can characterize/describe auxiliary materials:

Represent the main substance of the finished product

Are bought in order to be resold

Represent a subcategory of materials in the form of inventory items
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Contribute to the production of finished products

m

Went through a number of technological stages, having suffered a certain degree of processing and have been accepted
upon completion

According to the Conceptual Framework, an asset represents:

A resource controlled by the entity as a result of past events and from which future economic benefits are
expected to flow to the entity and whose cost can be measured with reliability

A current economic benefit which presents the potential to contribute, directly or indirectly, to cash flows to the
entity and whose cost can be measured with reliability

A long lasting or temporary source of the entity resulting of past events, the settlement of which is expected to
result in an outflow from the entity of resources embodying economic benefits and whose cost can be measured
with reliability

An economic benefit as a result of past events, which currently generates cash flows to the entity and whose cost
can be measured with reliability

m

None of the above is correct

Which of the following statements is true in characterizing income?

They represent increases in economic benefits during the accounting period in the form of inflows or
enhancements of assets or decreases of liabilities

They represent increases in equity as a results of increases in assets or liabilities

They are recorded exclusively when invoicing production, when ownership is transferred to the buyer

They represent increases in equity as a result of contributions from equity participants
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When recorded in accounting they generate changes in the Balance Sheet and sometimes in the Income Statement

Which of the following statements is true concerning equity?

>|N

Equity represents third parties’ right over the assets of the entity after deducting all its liabilities

Equity is only formed out of nominal equity




C | The nominal equity category comprises elements such as: share premiums, revaluation reserves, capital reserves

D | The size of equity depends exclusively on the size of assets, being independent of the size of liabilities

E Equity is the shareholders’ residual interest in the assets of the entity after deducting all its liabilities

8. | Which of the following represents a fundamental principle in accounting?

A | Going concern

B | Consistency

C | Intangibility of opening balances

D | Double entry accounting for economic transactions

E Economic entity

9. | Which of the following statements regarding the going concern is true?

A This principle assumes that the entity can not continue to operate in the foreseeable future as a result of abnormal
operating conditions

B This principle is not the premises for the application of the prudence, consistency and independence principles as
each principle must be judged independently

c This principle states that the entity will go bankrupt or significantly reduce its activity and therefore requires
adequate solutions to be found in order to stop this unwanted situation

D | When this principle is met, financial position elements are measured at their current value

E | None of the above is correct

10. | The substance over form principle assumes that:

A | The economic reality of events and transactions must always correspond to their legal form

B | Economic transactions must be reflected in accounting as they happen even if they are not grounded in documents

c Information presented in financial statements should reflect the underlying realities of accounting transactions and
should not merely comply with the legal form in which they appear

b Those transactions for which differences exist between their underlying realities and legal form are not accounted for
(not recorded)

E | All of the above are valid

Solution:

Quiz no. Answer Quiz no. Answer
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Class: Financial accounting

I. Multiple choice questions (5 x 0,2 = 1 point)

1. The value of tangible and intangible assets is corrected and updated to inventory levels:

A

mooOw

2. In the case of disposing (derecognition of) a partially depreciated tangible asset, the output value to be considered is:
The entry value or reevaluated value (if applicable)
The carrying amount

The output value (selling price)

The stock/inventory value

None of the above

A

mooOw

Only by creating/increasing impairments (because depreciation is systematically recorded on the basis of a depreciation
plan)
Either by recording additional depreciation or by creating/increasing impairments (depending on depreciation method)
According to the prudence principle, no operation will be recorded in this regard
By reducing the input value of the asset, on behalf of impairment costs

None of the above

3. The cost of inventories that are not ordinarily interchangeable and of goods or services aimed at specific/distinct orders

must be determined by:

A

Specific recognition  [B | FIFO lc | LIFO

b |

WAC

[E |

K coefficient

4. What is NOT recorded, when using the periodic (intermittent) inventory system, for raw materials and consumables?

A

Stock withdrawals B | Stock entries |C | Final inventory

D

Beginning
inventory

E

Inventory results

5. A company (VAT registered) presents the following scenario: Si. 371 2.480 lei (20 pcs.) Si. 378 400 lei, Si. 4428 480 lei. It
acquires 300 pcs. of goods, at 74 lei/piece, VAT 24%; the company wishes to sell these newly acquired goods as the same
price as the goods in the existing stock. What is the total amount of trade mark-up (added value) and VAT under
settlement?

A |AC780 lei

TVAneex 720 lei

B |AC 400 lei C |AC555 lei
TVAneex 480 lei TVAneex 666 lei

AC 600 lei TVAneex
720 lei

E

AC 840 lei TVAneex

734,40 lei

Il. Problem solving (2*1 = 2 points)

1. A company (VAT registered) acquires, on 05.12.2016, technological equipment with the selling price of 12.000 lei, VAT
20%. Debt to the supplier is paid by bank transfer, after three days. The lifespan of the equipment is 5 years and the
company has adopted the straight-line method of depreciation (recorded monthly). On 10.01.2020, at a current service
check, a deficiency of the equipment is being found, which is repaired by a specialised company (non-VAT registered) for
480 lei. The asset is sold on 20.01.2020, for 6.000 lei, VAT 20%.

No. Date Explanation DEBIT | CREDIT | Sums
1. 05.12.2016 |Equipment acquisition % 404 14.400
2131 12.000
4426 2.400
2 08.12.2015 |Debt settlement 404 | 5121 | 14.400
3. 2016-2019 |Monthly equipment depreciation (12.000 / 60 months = 200 lei/month) 6811 | 2813 200 x
48
4 10.01.2020 |Equipment repair 611 401 480
5.1 20.01.2020 |Equipment sale 461 % 7.200
7583 6.000
4427 1.200
5.2 20.01.2020 |Discharge % 2131 | 12.000
2813 9.600
6583 2.400




2. A company (VAT registered, Stock costing method: effective cost, permanent inventory system, FIFO method) holds, in
early November 2015, 1.500 kilos of stock of finished goods (11 lei/kilo). On 10.11.2015, the company consumes 600 kilos
of raw materials (6 lei/kilo). In 30.11.2015 the company records 1.400 lei in gross wages. Also on 30.11.2015, the company
receives 500 kilos of finished goods. On 05.12.2015, the company supplies 1.800 kilos of finished goods, for a price of 20
lei/kilo, VAT 20%. At the end of the month, the stocktaking shows a surplus of 10 kilos of finished goods.

No. Date Explanation DEBIT | CREDIT | Sums
1 10.11. 2015 |Raw material consumption 601 301 3.600
2 30.11. 2015 |Gross wages 641 421 1.400
3 30.11. 2015 |Finished goods reception (at standard cost) 345 711

4.1 ]05.12.2015 |Finished goods sale 4111 % 43.200

701 | 36.000
4427 7.200

4.2 ]05.12.2015 |Discharge(1.500 x 11 + 300 x 10 = 19.500) 711 345 | 19.500

5 31.12.2015 |Surplus in stocktaking (10 x 10) 711 345 (100)

Class: Managerial accounting

I. Problem solving (1*1,5 = 1,5 points)

Granite Company uses a job-order costing system. The company applies manufacturing overhead to jobs using a
predetermined overhead rate based on direct labor-hours. Last year, manufacturing overhead and direct labor-hours were
estimated at $100,000 and 20,000 hours respectively, for the year. In June, Job #315 was completed. Materials costs on the
job totalled $1,500 and labor costs totalled $2,400 at $6 per hour. At the end of the year, it was determined that the
company worked 15,000 direct labor-hours for the year, and incurred $78,000 in actual manufacturing overhead costs.

Required:
a. Determine the predetermined overhead rate for the year.

b. Determine the amount of overhead charged to jobs during the year.

¢. Assuming that 100 units were completed, determine the unit cost that would appear on the job cost sheet for Job #315.

Solution:
a. $100.000 / 20.000 DLHs = $5 per DLH (0,5 points)

b. 15.000 DLHs x S5 per DLH = $75.000 (0,5 points)

Direct materials $1.500

Direct labor $2.400

Overhead applied $2.000

(400 DLHs* x S5 per DLH)

Total cost $5.900

Unit cost $59,00 (0,5 points)

*$2.400 / $6 per DLH = 400 DLHs




Class: Controlling

I. Multiple choice questions (5 x 0,20 = 1 point)

Once the break-even point is reached:

The total contribution margin changes from negative to positive.

Net operating income will increase by the unit contribution margin for each additional item

Variable expenses will remain constant in total.

The contribution margin ratio begins to decrease.
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None of the above is correct.

At a break-even point of 400 units sold, variable expenses were $4,000 and fixed expenses were $2,000. What will the
401st unit sold contribute to profit?

S0

$5

S10

$15
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None of the above is correct.

A flexible budget is a budget that:

Is updated with actual costs as they occur during the period.

Is updated to reflect the actual level of activity during the period.

Is prepared using a computer spreadsheet application.

Contains only variable production costs.

molo|lm|>|w

None of the above is correct.

Dewberry Midwifery's cost formula for its wages and salaries is $1,960 per month plus $429 per birth. For the month of
December, the company planned for activity of 128 births, but the actual level of activity was 130 births. The actual
wages and salaries for the month was $56,020. The wages and salaries in the flexible budget for December would be
closest to:

$57,761

$57,730

$56,020

$56,872

mO oo >

None of the above is correct.

If the actual labor hours worked exceed the standard labor hours allowed, what type of variance will occur?

Favorable labor efficiency variance.

Favorable labor rate variance.

Unfavorable labor efficiency variance.

Unfavorable labor rate variance.
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All of the above are valid.

Il. Problem solving (0.5 points)

6 Lineman Corporation sells a product for $230 per unit. The product's current sales are 23,400 units and its break-even
* | sales are 20,124 units. What is the margin of safety in dollars? Interpret the obtained result.
Solutions:
Quiz no. Answer Quiz no. Answer
1 B 4 B
2 B 5 C
3 B

2. Break-even point (units) = Fixed expenses = Contribution margin per unit
Substituting:

400 = $2,000 + Contribution margin per unit

Contribution margin per unit = $5

4. 51,960 + $429 x 130 = $57,730

6. Margin of safety in dollars:
Break-even sales = $230 per unit x 20,124 units = $4,628,520




Current sales = $230 per unit x 23,400 units = $5,382,000
Margin of safety in dollars = Sales - Break-even sales = $5,382,000 - $4,628,520 = $753,480
A decrease of $753,480 in the company’s sales leads to its break-even point.

Class: Financial control

At this discipline, students will get just one subject from these listed below. The subjects presented here are orientative.
Open questions (1*1,5 = 1,5 points)

1. Make a short presentation of the attributes that specifically address the role of monitoring when deficiencies are
identified, according to COSQ’s Guidance?

Solution:

Report findings — Findings of internal control deficiencies are reported (1) to the individual who owns the process and
related controls and who is in a position to take corrective actions, and (2) to at least one level of management above the
process owner.

Report deficiencies — Significant deficiencies are communicated to top management and the board or audit committee.

Correct problems on a timely basis — Deficiencies reported from both internal and external sources are considered, and
timely corrective actions are taken.

These attributes reinforce the need for the right people to receive information such that (1) corrective action can be taken,
and (2) management can provide sufficient oversight to gain assurance that the corrective action has been taken.

2. What is internal control and what are its compononts, according to COSO Framework?

Solution:
The COSO Framework states that the internal control is a process, effected by an entity’s board of directors, management
and other personnel, designed to provide reasonable assurance regarding the achievement of objectives in the following
categories:

e Effectiveness and efficiency of operations

¢ Reliability of financial reporting, and

e Compliance with applicable laws and regulations

The internal control components are:
a. control environment,
b. risk assessment,
c. control activities,
d. information and communication.
e. Monitoring

3. We know the following information for the period of time 01st of January 2015 — 31st of March 2015: Commodities
incomes: 20.000 lei; Dividend incomes: 3.000 lei; Commodities expenses: 12.000 lei; Fines owed to the government: 1.500
lei; Profit tax expenses for Quarter 1/2015: 600 lei

Requirements:

a. Compute fiscal result (taxable profit/fiscal loss) for Quarter 1/2015;

b. Determine correct value of tax on profit for Quarter 1/2015 and then record in the financial accounting system the
necessary correction;

c. Determine the correct gross result and net result

Solution:
a. Fiscal result for Quarter 1/2015: (0,5 points)
Fiscal result (Fisc Res )= Accounting result (Acc Res) + Not deductible expenses — Not taxable incomes
Accounting result (Acc Res) = Total incomes — Total expenses = (20.000 + 3.000) — (12.000 + 1.500 + 600) = 8.900 lei

Not deductible expenses = 2.100 lei

- Fines owed to the government: 1500 lei

- Profit tax expenses: 600 lei

Not taxable incomens: 3.000 lei

- Dividend incomes: 3000 lei

Fisc Res = 8.900 + 2.100 — 3.000 = 8.000 (lei)



b. Correct value of tax on profit for Quarter 1/2015 - 0,5 points (0,25 points for correct value and 0,25 points for
accounting formulas)

Correct tax on profit = 16% x Fisc Res = 16% x 8.000 = 1.280 lei

Tax on profit recorded in the accounting system = 600 lei

Necessary correction =680 lei

691 =4411 680
121 =691 680

c. Gross result and net result (0,5 points: 0,25 points for each type of result)

The new accounting result after the accounting recording above:

New accounting result = 8.900 — 680 = 8.220 lei — THIS IS THE NET RESULT (INCLUDES ALL TAX ON PROFIT EXPENSES) = Final
credit amount of 121 account

Gross result = Net result + Correct Tax on profit expenses recorded =8.220 + 1.280 = 9.500 lei



